/NEETE BN RS B B AR 44

2R it B 42 HidAgE | ABEERiRC
1 8 R 87.07 *
2 12 F AL 86. 93 *
3 17 PR 86. 73 *
4 9 e o 85. 93
5 14 TEE 85. 67
6 6 BE N 85. 53
7 7 2N 85. 27
8 16 e 83. 47
9 3 Hif 81. 67
10 4 H T 81.33
11 2 Ji e 81.13
12 13 PN I 77.07
13 1 RS 72.73
14 5 BRI B
14 10 F A4 R
14 11 £ R
14 15 =) S R




NEBERBOME RS B B AR 44 5

2R it B 4 HidAgE | ABEERiRC
1 12 LPN 87. 67 *
2 18 JHE=E 86. 87 *
3 9 B IES 84. 40
4 6 GG 84. 33
5 15 TR 82. 73
6 8 & AES 82. 33
7 7 T IRE 81. 40
8 1 TR 81. 07
9 2 A 80. 60
10 10 IME AL 80. 13
11 16 =T 79. 47
12 13 FNFTF] 79. 20
13 17 S 78. 87
14 14 o i 77.73
15 11 T AR 74.13
16 3 T4 73.13
17 4 T UK 66. 93
18 5 SRR %
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NEEE BUNE RS BN Bl AR 44 5

2R it B 42 HidAgE | ABEERiRC
1 1 £S5 88. 40 *
9 3 T AE 85. 33 *
3 2 JELE 84. 60




/NERARBUNE RS BN B AR 45 5

2R it B 4 HidAgE | ABEERiRC
1 8 AR ED- 84. 00 *
2 10 A SR 80. 40
3 2 R AE IR 80. 20
3 3 EE 80. 20
5 9 G12) 79. 40
6 5 R 79. 00
7 11 e S 78.53
8 1 T4 77. 47
9 4 VFEIRR 75. 73
10 6 XIJE R
10 7 HH 5 5 R
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2R x5 4 HikEg | ABEERARID

1 6 J& Hi 91. 50 *
2 8 RIKER 91. 40 *
3 4 SN 90. 03 *
4 7 Hh R 89. 20 *
5 5 FH 88. 60 *
6 2 ZHEMg 88. 17 *
7 3 BN 87. 70

8 9 PN 86. 67

9 1 FHEHE 85. 87




